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4.2 Problems

Question 1. Evaluate the integral by interpreting it in terms of area.

(a) /;2(x+ 1) do = -3/2,

// . Breo = —( hrea of Big Hiungle = Atesof spedl 4riangle )
2,

R SR
4@ l:'l]

L

L gl 9 BRI AR =]

(c) / 31+de yz | - ertersd
oL (0,1) with Pdus 3

5 |

’ ﬂfw = q ﬁwo\’[u C(’(JQ, = W(fc‘"ﬁ e

2
= L34 13

4{.

MSU 1













































































































































MTH132 - Examples

Question 2. Use the properties of definite integrals allow with:
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to evaluate:
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Question 3. Express the following as a Riemann sum:
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Question 4. Express the following as a definite integral:
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Question 5. Evaluate the definite integrals using Riemann sums.
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